True of False?

Louis Pasteur was French.

Thomas Edison wasn’t American.
Chemistry is easy.

Bill Gates isn’t Canadian.
You like technology.

Al Khawarizmi developed Algebra.

Marie Curie didn’t win the Nobel Prize.

You can speak English.

UNIT 8: SCIENCE & TECHNOLOGY



GRAMMAR: Tag Questions

A: Bill Gates is American, isn’t he?
B: Yes, he is.

A: Louis Pasteur was French, wasn't he?
B: Yes, he was.

A: You like technology, don’t you?
B: Yes, | do.

A: Marie Curie won the Nobel Prize, didn’t she?
B: Yes, she did. She won two Nobel Prizes.
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GRAMMAR: Tag Questions

You are happy today, aren’t you?

Bill Gates isn’t Canadian, is he?

Louis Pasteur was French, wasn’t he?

You like technology, don’t you?

Marie Curie won the Nobel Prize, didn’t she?

You can speak English, can’t you?
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GRAMMAR: Tag Questions

Complete with tag questions and answers.

A: Elon Musk is American,
B: Yes,

A: Marie Curie was French,
B: Yes,

A: You like social media,
B: Yes,

A: Thomas Edison invented the light bulb,
B: Yes, . He also Invented the phonograph.

A: Sara can speak three languages, ?
B: Yes,
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GRAMMAR: Tag Questions

Complete with tag questions and answers.

A: Elon Musk is American, isn’t he?
B: Yes, he is.

A: Marie Curie was French, wasn’t she?
B: Yes, she was.

A: You like social media, don’t you?
B: Yes, | do.

A: Thomas Edison invented the light bulb, didn’t he?
B: Yes, he did. He also invented the phonograph.

A: Sara can speak three languages, can’t she?
B: Yes, she can.
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GRAMMAR: Tag Questions

Complete with statements.

, aren’'t you?
, were you?

, don’t you?

, can’t you?
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